

http://www.ms.uky.edu/~ma137 Lecture 16

http://www.ms.uky.edu/~ma137 Lecture 16

4/17

### The Derivative of a Function

The Derivative of a Function

We formalize the previous discussion for any function f.

The **average rate of change** of the function y = f(x) between  $x = x_0$  and  $x = x_1$  is

$$\frac{\text{change in } y}{\text{change in } x} = \frac{f(x_1) - f(x_0)}{x_1 - x_0}$$

By setting  $h = x_1 - x_0$ , i.e.,  $x_1 = x_0 + h$ , the above expression becomes

$$\frac{\Delta f}{\Delta x} = \frac{f(x_0 + h) - f(x_0)}{h}$$

Those quantities represent the slope of the secant line that passes through the points  $P(x_0, f(x_0))$  and  $Q(x_1, f(x_1))$ 

[or  $P(x_0, f(x_0))$  and  $Q(x_0+h, f(x_0+h))$ , respectively].

The Derivative of a Function



http://www.ms.uky.edu/~ma137 Lecture 16

Average and Instantaneous Growth Rate Formal Definition of the Derivative Differentiability and Continuity

Average and Instantaneous Growth Rate

Formal Definition of the Derivative

Differentiability and Continuity

Now just drop the subscript 0 from the x<sub>0</sub> in the previous derivative formula, and you obtain the instantaneous rate of change of f with respect to x at a general point x. This is called the **derivative of** f at x and is denoted with f'(x)

$$f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h} = \lim_{\Delta x \to 0} \frac{\Delta f}{\Delta x}.$$

It is a function of x...no longer a number!

http://www.ms.uky.edu/~ma137 Lecture 16

- We say that f is **differentiable** on an open interval (a, b) if f'(x) exists at every  $x \in (a, b)$ .
- Notations: There is more than one way to write the derivative of a function y = f(x). The following expressions are equivalent:

$$y' = \frac{dy}{dx} = f'(x) = \frac{df}{dx} = \frac{d}{dx}f(x)$$

The notation  $\frac{df}{dx}$  goes back to Leibniz and is called **Leibniz notation**. We can also write  $\frac{df}{dx}\Big|_{x=x}$  to denote  $f'(x_0)$ .

# Average and Instantaneous Growth Rate The Derivative of a Function Formal Definition of the Derivative Differentiability and Continuity Differentiability and Continuity

The instantaneous rate of change is defined as the result of computing the average rate of change over smaller and smaller intervals.

#### Definition

The **derivative of a function** f at  $x_0$ , denoted by  $f'(x_0)$ , is

$$f'(x_0) = \lim_{x_1 \to x_0} \frac{f(x_1) - f(x_0)}{x_1 - x_0} \\ = \lim_{h \to 0} \frac{f(x_0 + h) - f(x_0)}{h}$$

provided that the limit exists.

In this case we say that the function f is differentiable at  $x_0$ .

Geometrically  $f'(x_0)$  respresents the slope of the tangent line.

**Note:** To save on indices, we can also write  $f'(c) = \lim_{x \to c} \frac{f(x) - f(c)}{x - c}$  to denote the derivative of f at the point c.

http://www.ms.uky.edu/~ma137 Lecture 16

Average and Instantaneous Growth Rate Formal Definition of the Derivative Differentiability and Continuity

**Example 1:** (Online Homework HW11, # 3)

Let f(x) be the function  $12x^2 - 2x + 11$ . Then the difference quotient

$$f(1+h)-f(1$$

can be simplified to ah + b for  $a = \_\_\_$  and  $b = \_\_\_$ 

Compute 
$$\lim_{h\to 0} \frac{f(1+h)-f(1)}{h}$$
.

$$= \frac{f(x) = |2x^{2} - 2x + 1|}{k}$$

$$= \frac{f(x+k) - f(x)}{k} = \frac{\left[|2(|x+k)^{2} - 2(|x+k) + 1|\right] - \left[|^{1}(x)^{2} - 2(|y+k|)\right]}{k} = \frac{\left[|2(|x+k)^{2} - 2(|x+k|) + 1|\right] - \left[|^{1}(x)^{2} - 2(|y+k|)\right]}{k} = \frac{\left[|2(|x+k)^{2} - 2k + x|\right]}{k} = \frac{2k}{k} + \frac{$$



$$\frac{1}{|y|} = \sqrt{x}, \text{ find } f'(x), \text{ using the definition of derivative.} \\ \Rightarrow f'(x) = \sqrt{x}, \text{ find } f'(x), \text{ using the definition of derivative.} \\ \Rightarrow f'(x) = \sqrt{x}, \text{ find } f'(x), \text{ using the definition of derivative.} \\ \Rightarrow f'(x) = \sqrt{x}, \text{ find } f'(x), \text{ using the definition of derivative.} \\ \Rightarrow f'(x) = \sqrt{x}, \text{ find } f'(x), \text{ using the definition of derivative.} \\ = \lim_{k \to 0} \frac{(\sqrt{x+k} - \sqrt{x})}{k} - \frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}} \\ = \lim_{k \to 0} \frac{(\sqrt{x+k} + \sqrt{x})}{\sqrt{x+k} + \sqrt{x}} = \frac{k_{k+0}}{k} \frac{\sqrt{(x+k} + \sqrt{x})}{\sqrt{x+k} + \sqrt{x}} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{k} \frac{\frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}}{k} \\ = \lim_{k \to 0} \frac{\sqrt{(x+k} + \sqrt{x})}{k} - \frac{k_{k+0}}{\sqrt{x+k} + \sqrt{x}}} \\ = \lim_{k \to 0} \frac{k_{k+0}}{k} \frac{k_{k+0}}{k} - \frac{k_{k+0}}{k} \frac{k_{k+0}}{k} \\ = \lim_{k \to 0} \frac{k_{k+0}}{k} - \frac{k_{k+0}}{k} - \frac{k_{k+0}}{k} - \frac{k_{k+0}}{k} - \frac{k_{k+0}}{k} \\ = \lim_{k \to 0} \frac{k_{k+0}}{k} - \frac{k_{k+0$$



### Differentiability and Continuity

A function f is differentiable at a point if the derivative at that point exists. That is, if the tangent line at that point is well defined.

There are two ways that a tangent line might not exist. It depends on how limits fail to exist:

(a) left-hand and right-hand limit do not agree;

http://www.ms.uky.edu/~ma137

(b) one of these limits is infinite.

Continuity alone is not enough for a function to be differentiable:

Lecture 16

The Derivative of a Function Formal Definition of the Derivative Differentiability and Continuity

## **Differentiability Implies Continuity**

However, if a function is differentiable, it is also continuous.

#### Theorem

If f is differentiable at  $x = x_0$ , then f is also continuous at  $x = x_0$ .

**Proof:** To show that f is continuous at  $x = x_0$ , we must show that

$$\lim_{x \to x_0} f(x) = f(x_0) \quad \text{or} \quad \lim_{x \to x_0} [f(x) - f(x_0)] = 0.$$

However  $\lim_{x \to \infty}$ 

$$\begin{split} \min_{x_0} [f(x) - f(x_0)] &= \lim_{x \to x_0} \left[ \frac{f(x) - f(x_0)}{x - x_0} \cdot (x - x_0) \right]_{x_0} \\ &= \lim_{x \to x_0} \left[ \frac{f(x) - f(x_0)}{x - x_0} \right] \cdot \lim_{x \to x_0} (x - x_0) \\ &= f'(x_0) \cdot \lim_{x \to x_0} (x - x_0) \\ &= f'(x_0) \cdot 0 \\ &= 0. \end{split}$$

Average and Instantaneous Growth Rate

Average and Instantaneous Growth Rate Formal Definition of the Derivative The Derivative of a Function **Differentiability and Continuity Example 7:** (Online Homework HW11, # 14) Find a and b so that the function  $f(x) = \begin{cases} x^2 - 2x + 3 & \text{if } x \le 2 \\ \\ ax^2 + 6x + b & \text{if } x > 2 \end{cases}$ is both continuous and differentiable. ()http://www.ms.uky.edu/~ma137 Lecture 16 (2) The derivative of f is  $f'(x) = \begin{cases} 2x - 2 & \text{if } x < 2\\ 2ax + 6 & \text{if } x > 2 \end{cases}$ We need to make sure that it exists for x=2  $\lim_{x \to 2^-} f'(x) = \lim_{x \to 2^+} f'(x) \quad \text{; hence}$ 

$$2(2) - 2 = 2a(2) + 6$$

$$f_{NUST}$$

$$\implies 2 = 4a + 6 \iff 4a = -4 \iff a = -1$$
Hence:
$$\begin{cases} a = -1 \\ 4a + b = -q \implies b = -5 \end{cases}$$

$$f(x) \text{ is made of two pieces of parabolas}.$$
These are continuous and differentiable for  
 $x < 2$  and  $x > 2$ . The problem is at  $x = 2$ .  
We need to make mue that f is continuous  
at  $x = 2$  and that the derivative exists  
at  $x = 2$ .  
) for the continuity we need:  $\lim_{x \to 2^+} f(x) = \lim_{x \to 2^+} f(x)$   
Thus:  $\lim_{x \to 2^-} (x^2 - 2x + 3) = \lim_{x \to 2^+} (ax^2 + 6x + b)$   
 $x \to 2^-$   
MUST  
 $i.e.$   $2^2 - 2(2) + 3 = a(2)^2 + 6(2) + b$   
 $i.e.$   $4a + b = -9$ 

1